— H LX) [
DO2BEE #FTINAZE 2FHF EPiEE EFEI #1113
)= P\ 7K /N v T
A B C A B C A B C A B C A B A B
4:00 4:00 4:00 4.00 4:00 4:00 4:00 4:00 4:00 4:00 4:00
w4 L TJagsS i Ihe =S NS N3 Ih4 INZ NG NS4 N3
=E SO 58 B HEE = g5 BR/t= ESES HEE B
4:45 500 445 445 4:45 4:45 4:45 4:45 4:45 4:45 4:45
450 450 450 450 450 450 4:45
JOJ> N6 NG NS INSEE NS INSEH
Sl =E (=E| wmE EEE S LSRN
6:20 535 535 6:00 535 535 5:30
450 4%
b2 (15) 2:20
BR
535 D3
5:00 2D
500 450 535 540 |.530 | 535 | £, B 7y
P tp2 #)lich 1 e |FlP2 | B20% | 2L | TR -2
BiEE 3R 2D 61 ”5 E1Q) "HE 61 % B .
6:00 6:00 6115 : 6115 6:20 : 450
7:00
6:05 6:00 6:00 6:00 625 6:20 6:20 6:20 625 6:20
4 h3EK 2 3@ | FP 1 L FHBRUP3 D PIFER | #HP2 | P24 | P3BE
2D HEE D HEED HFE = BRO EBROD 5B HE=D
7:05 710 710 710 7:05 7:05 7:05 7:05 710 7:05
715 715 715 74 715 710 710 710 715 710
el Hh3ER 2 3@ | F)lIP1 | FHBUP3 | P3ER | #HP2 | P1E0E | PIBE
HEEQ E2\(=2 XEE e BR HFE = H= BR 58
815 825 825 825 755 755 755 755 755 755
7:00
825 825 825 825 800 800 800 800 800 800 3
&1 h3EIR 2 3@ | F)IIP 1 | HELP3 | PIRIR | #)IIP2 | P EEE | PITE | TSR
Q) 5B HHQ 5B H=@ B 52 EsES H= BR e
925 9:35 9:35 9:35 840 845 845 845 840 845 500
850 850 850 850 850
#1)1l5p A D3R | F)IIP2 | 1 BE | P3TE
ESR3 BRO EBRO 52 HE=O©
9:30 9:35 9:35 9:30 9:35

X BSHEBRDD. Q[ UEREZTTNET,

X CTREDRIIEF)NHBETTEBESUN,

TelO70-5288-0145




